


If 6 + 8 tanq = secq and 8 - 6 tanq =
L
36.“"1&'" V= <'&':%"k secq, then what is the value of k2?

af¢ 6 + 8 tanq = secq 3R 8 - 6 tanq =
k secq g, T k2 & A9 ST N |
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» = cosecO - cot0,




The value of (ZCOSZB - 1)

1+ tan -tane_is_
| 1-tan®@A1+tan® |
(a) 2
(b) O

J3 (:YVhbul.



Given that A and B are second

CA C B‘l'sn $ e quadrant angles,

sinA= 1/3 and sin B= 1/5, then find
the value of cos(A-B).

\ 3 (a) 4.3 +1
15
as_p:b' B8
‘ s 15
V3 +1
11—6—'39/8 15
4.3 -1




If cos A = sin2A, and a sinl?A + b
#
sinl0A + ¢ sin8A + sin®4X =1, then a +
b+c=7?
o 7
(b) 8
(c) 9
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If 1 + sin2 O - 3sinB cosO = 0, then
the value of cot® is: , TEX )

(a) O -
BYT, (ugh=o
2 s
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=32 O @
=894 o
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Which of the following will satisfy
a2=b2+(ah)2 for les a and b?
(a)/f 0 = cot x

(b a=cosx\b=tanx
a=cotx\lb=cosx

(d\a=sinx Yb=tanx




If 1 + sin® = mcos0O, then what is the

value of sin0?
2
(a) 2m- -1
m’ +1
’2.1112 11
m” w1l
s |

m‘!—_l M""H m2+1
I : ) mz+1 O
m- -1 Q



If sec x - cos x = 4, then what will be

(1 + cos” x)
the value of ?
COS X
(a) 9/4 (
(b) 1/4
A6 25 8{&\"\'(3’)%
(d) V5
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If Tan A Tan B

é&§_§_+ Co = | P = = e =1, thenx =7

CA cRy  CACA cosAcosB
(a) B
SASBHR =CACB da.n

(d) A-B

Ge=C(AXR)
7 ©



If x = 8(sin0+ cosf)andy =9

xﬂ .y2
(sin6 - cos 0),thenthe valueof — + = is:
8 9
(a) 4
(b) 6
(c) 8

U2




What is the value of the expression

cos 2A cos 2B+sin?
K\ (A-B)-sin2(A+B)?
(a) sin (2A - 2B)
(b) sin (2A + 2B)
caKae gl B
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If A is an acute angle, the simplified
form of

cos(m-A). co:;t[rzl A) cos(-A)

tan (r + A)tan(Sn A)sm (2r-A)

) Sin A mw*mﬁ
(c) Sin2A ﬁ_
qu




If a=45° and b=159, what is the value
cos(a—b)-cos(a+b)

W) ?
/Tcos(a—b)+cos(a+b)
(a) 2-2y2

3-1 (b) 3- 6
+ (c) 3-+2




2. LV
__..C__ ~+ _S__._
c-S  S-C

COos A . sinA
l1-tanA 1-cotA
(a) tanA-cotA
(b) tanA+cotA
(c) sinA-cosA

\)d-)'S'inA+cosA

©
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If cotx - tanx = 3/2, then what
will be the value of cotx + tanx?
(a) 3



If sin (A + B) = cos (A + B), what

7~ is the value of tan A?
l1-tanB

A+ B=Yys® . 1+tanB

Hr—*«S?-B (b) l1+tanB
t(ys-R)=1-€ta 1-tanB
;E 1+ secB

1-secB
1-cosecB

1+ cosecB




sin40 + cos’0 in terms of sin 0

can be written as:
(a) 2s1n? 0 +2sin%0 - 1
(b) 2sin%0 - 2sin2 0

‘--' (c) 2sin%0 - 2sin20 -1

$.|. - ) 2sin®0- 2sin20 +1



If sin© + cosO = \/5 . , then what

J2
/Thevalue of tanEiJr2 cotO?
HQ&-’IZJ_% s 843 -2 — \

(b) 12(J§ 2)




If tana=3+Q?, then

O
0("-‘- q;' seca + tan°acoseca = ?

& / 3+07)
3
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Simplify the following:

COSX - \/Esinx
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